BIC

log[ Relative Probability ]

—400

Window Half—Width (km/s)

10%

5%x10°

2x10°

10

0

—200

10*

1000

rmQ002 2/(410980 5341) O 961
; —— :
i ' BIC 458810 84 ABIC 0.000 AlogP 0. OOOO
- : x 389771.47 Ax 0.000 AlogP 0.0000 -
— — :
9—11— e— — — = _—— = = = — — — — —
| ABIC —67762 1159 :( 1111 :( i
AX> —67762 —4.6 —1422
5055 ' B0b5 5145 5341
A AC, ACSF . ACSBSF .
50 100 150 200 250
261 iterations
rm002 2/(410980 —5341)= o 961
B T T T T | T T T T | T T T T T
' : BIC 458810 84 ABIC 0.000 AlogP 0. OOOO
_________ e —I P 2.389771.47 Ay® 0.000 AlogP .0.0000 ]
- ' '
L : | i
I | _________________________________________________________
_ U 1] _
|
5055 | 055 U 5145~~~ s 5341 o 1
AL A ACSF 'r - ACKBSF o
C L L ! L | L L L | L L L L | L L L L | L L L L | N
50 100 150 200 250
261 iterations
Fe2 18% 8101304 km/s
rm002 BLR 7340 NLR 900 km/s
T 1 — 1 T r T T 1 ' T T T T T T T T T ¥

Sl

150

261 iterations

kdh1

BIC

BLR

MR

7-0ct-2021 22:58



